SMIF  SMITD

(BE1YE /HURLYE) (294)

L}
At
=
At
£
=
Ql
M
S
-
o

L
-
-
L
~
-
J




@ LIAHE B0 AR LIAMS IHESIHH A HRO BE 3

@ 115 A (HSS)E ME5t0 £HO0| I 4|
rors|

=

® ‘53,

O AHOH

- O A

A
=
S WC2 AYY 2 YBLICL @

Ct.

Aag

L BB Y
H

"

S=((0 =) >

SMTY

AMCto

& XQIE 0ojCHIojA

mTAEILIA}, 2. o . . .
LEAR & TRIZE MAO] HKRIE " AR LA 2

T,
- S A e ]
EI0 Q7| 20|, RILEATO HESH| A, o 0
= E3 = d o X
OJA| LEAH IX] ZZA0] 5| 2utE LU, 4 o
T T
. 2 Lo}
F) YO = AR LIALS XHE4SI D UX| & UL % ABILIALO| MMILE | |7
[ -
SMT(S28) 84& ) I8
B M6 0|3} B9l 1
. Ty |LAZo | 220/ | 43zZ0l| 433 =
" A He X ST 17 | en | 4s | ens| A | B GRS
N <
{”’* ***** A %’*L’* J@}% M2 X04 |04 | 42 | 53| 12 | — | 3 | 18 | 2.8 | MTM62.0EG
2;” M3 X05 |05 | 46 | 55| 14 | — | 4 | 18 | 3.7 | MTM63.0GG
£n M4 X07 |07 | 52 | 74| 17 | — |5 | 20 | 47 | MTM64.0IG
L
M5 X08 |08 | 60 | 96| 22 | — | 55| 23 | 51 | MTM65.0KG
M6 X1 1 62 |10 | 26 | — |6 | 23 | 56 | MTM66.0MG
B M8 0]
M8 X125 |1.25| 70 [145| — | 36 | 6.2 | 25 | 58 | MTM68.ONG
30°
)7\ o wNF’S A M10X1.5 15 | 75 |16 | — |38 |7 | 26 | 65 | MTM60100G
I
1 L,‘, % [ N I 1 { M10x1.25 | 1.25| 75 |145| — | 38 | 7 | 26 | 65 | MTME010NG
ol s M12X1.75 |1.75| 82 [19.5| — | 42 | 85 | 26 | 7.9 | MTM6012PG
L g - M12X1.5 15 | 82 |19 | — | 42 | 85| 26 | 7.9 | MTM60120G
L
M12X1.25 1.25| 82 |14.5 - 42 85 | 26 7.9 | MTMB012NG
SMT(%0I8) ¥YE ) I8
B M6 0|3} B9l 1
. T [UnZol| 2200 | 4320/ 437 =
v o05| “< : R X SE 17 | en | 4s | eps| A | B $33E
H<_,L 77777 M K — 1L 5
M2 X04 |04 | 42 | 45| 12 | — | 3 | 18 | 2.8 | MTM62.0EN
BANIE
£ —— M3 X05 |05 | 46 | 45| 14 | — | 4 | 18 | 3.7 | MTM63.0GN
- Y
£ ~
. , M4 X07 |07 |52 | 6 | 17 | — |5 | 20 | 47 | MTM64.0IN
M5 X08 |08 | 60 | 6 | 22 | — | 55| 23 | 51 | MTM65.0KN
M6 X1 1 62 | 6 | 26 | — |6 | 23 | 56 | MTMB6.0MN
B M8 0|
M8 X1.25 1251 70 |10 - 36 6.2 | 25 5.8 | MTM68.0NN
HO|-X| BIE| AA|
- AEQNFS A M10X1.5 |15 | 75 |10 | — | 38 | 7 | 26 | 65 | MTM60100N
N \ M10X1.25 |1.25| 75 |10 | — | 38 | 7 | 26 | 6.5 | MTMBO1ONN
FF =7 @
BARIE M12X1.76 | 1.75| 82 [10 | — | 42 | 85 | 26 | 7.9 | MTM6012PN
£ 2s
e Mi2X1.5 |15 | 82 [10 | — | 42 | 85| 26 | 7.9 | MTM60120N
L Mi2X1.25 |125| 82 |10 | — | 42 | 85| 26 | 7.9 | MTM6O12NN




R YAMAWA

=
s 5%
@ "ULIALY| 7H0] £
(o]

L
&
0o

ILEARS] A0S 2

| @ FTR0 ML A0 2 RN FrATL M EE AT
o

GB/NB-6H @ SVMTD= 23001 o1 202 7% 55'8 % 4 %L,

SMTD i

@ LU AAZFUIM ZHAOXI0 o=l FZ(GP) - Z2(NP/WP)Y 23] A0 H&E 12 AN ZEY £ AFUL
@ A AW MX| S HUSH| A2 LEAL ZAOIME AR LIAME XHE0I0] Tt £7Y0| 7t LC
@ A2H0] 2 XHEO0f Qlsl, "7t0] £ "+ AI2f0| Jts TS LT YO 2 O|FOj- LY,

SMTD (0194)) 9] ¥t LiAMS 9| 2 0]

SMTDY &2 2IREO LIAZO|E, 2AF 28X 2 A YL

B SMTDEYE M2~M6 (NO.2~1/4) B SMTDYEYE M7~M18 (5/16~1/2)
30° 30°
#Ds Z @Ds K
,,,,,,, 1 -T=) il 7E’*’+7’7’ﬁ’#’ I
2K %
& 30° 2K “
21 2 [Pt
L 21 22
23
24
L
T - mm
PIPS mx| ‘JL’g GC(iﬂé) NC(jZﬂé) ajmo 2o zgaéﬂxm 20| i?;j a;(% ﬁ( wEaC X1 x| ﬁL’g GC(j‘s?é) NC<Z—:2°Jé) Eazﬂes@m %%a&ﬁm 20| iﬂ[}f a;(% ﬁ( e
M2 X04 |04 42 40 20 12 12 3 | 25 | 5 |MTDM62.0E M7 X1 1 70 11.0 50 30 34 62| 5 | 8 | MTDM67.0M
M2 X025 |0.25 42 49 1.3 1.0 12 3 25 | 5 |MTDM62.0B M7 X0.75 |0.75 70 129 38 23 34 62| 5 8 | MTDM67.0J
M2.5X0.45 | 0.45 46 44 23 14 14 3 25 | 5 |MTDM62.5N M8 X125 |1.25 70 89 6.3 38 34 62| 5 8 | MTDM68.0N
M2.5X0.35 | 0.35 46 52 18 1.1 14 3 25 | 5 |MTDM62.5D M8 X1 1 70 1.0 50 3.0 34 62| 5 8 | MTDM68.0M
M3 X05 |05 46 5.0 25 15 14 4 32 | 6 |MTDM63.0G M8 X0.75 |0.75 70 12.9 38 23 34 62| 5 8 | MTDM68.0J
M3 X0.35 |0.35 46 6.1 18 1.1 14 4 32 | 6 |MTDM63.0D M9 X125 [1.25 75 139 6.3 38 37 7 55 | 8 | MTDM69.0N
M3.5X0.6 | 0.6 52 6.2 30 18 17 5] 4 7 |MTDM63.5H M9 X1 1 75 16.0 50 3.0 37 7 55| 8 | MTDM69.0M
M3.5X0.35 |0.35 52 8.1 18 1.1 17 5| 4 7 |MTDM63.5D M9 X0.75 |0.75 75 17.9 38 23 37 7 55| 8 | MTDM69.0J
M4 X07 |07 52 54 35 2.1 17 5 | 4 7 |MTDM64.0l M10X1.5 |15 75 11.0 75 45 37 7 55 | 8 | MTDM60100
M4 X05 |05 52 7.0 25 i) 17 5 4 7 |MTDM64.0G M10X1.25 |1.25 75 12.9 6.3 3.8 37 7 55| 8 | MTDMGO10N
M4.5X0.75 | 0.75 60 6.9 38 2.3 21 55| 45 | 7 |MTDM64.5J M10X1 1 75 15.0 50 3.0 37 7 55| 8 | MTDM6010M
M4.5X0.5 |0.5 60 9.0 25 15 21 55 | 45 | 7 |MTDM64.5G M10X0.75 |0.75 75 16.9 3.8 23 37 7 55 | 8 | MTDM6010J
M5 X08 |08 60 6.6 40 24 22 55| 45 | 7 |MTDM65.0K M11X1.5 |15 82 14.0 75 45 40 85| 65| 9 | MTDM60110
M5 X05 |05 60 9.0 25 {Ii5) 22 55 | 45 | 7 |MTDM65.0G M11X1 1 82 18.0 5.0 3.0 40 85| 65| 9 | MTDM6011M
M6 X1 1 62 7.0 50 3.0 26 6 45 | 7 |MTDM66.0M M11X0.75 [0.75 82 19.9 38 2.3 40 85| 65| 9 | MTDM6011J
M6 X0.75 |0.75 62 89 38 2.3 26 6 45 | 7 |MTDM66.0J M12X1.75 [1.75 82 11.9 8.8 5.3 40 85| 65| 9 | MTDM6012P
2-56UNC | 0.4536 | 42 44 2.3 1.4 12 3 | 25 | 5 |MTDM2UN2E MI12X15 |15 82 14.0 75 45 40 85| 65| 9 | MTDM60120
2-64UNF 0.3969 | 42 49 20 1.2 12 3 25 | 5 |MTDM2UN2D M12X1.25 |1.25 82 15.9 6.3 38 40 85| 65| 9 | MTDMBO12N
3-48UNC | 0.5292 | 46 39 26 16 14 3 25 | 5 |MTDM2UN3F M12X1 1 82 18.0 50 30 40 85| 65| 9 | MTDM6012M
3-56UNF 0.4536 | 46 44 23 14 14 3 25 | 5 |MTDM2UN3E M14X2 2 88 10.0 10.0 6.0 43 105| 8 |11 | MTDM6014Q
4-40UNC | 0.6350 | 46 39 32 19 14 4 32 | 6 |MTDM2UN4H M14X15 |15 88 14.0 1.5 45 43 105| 8 |11 | MTDM60140
4-48UNF | 05292 | 46 48 26 1.6 14 4 | 32 | 6 |MTDM2UN4F M14X1.25 [1.25 88 15.9 6.3 38 43 105| 8 |11 | MTDM6014N
5-40UNC | 0.6350 | 52 59 32 1.9 16 5 4 7 | MTDM2UNSH M14X1 1 88 18.0 50 30 43 105| 8 |11 | MTDM6014M
5-44UNF 05773 | 52 6.4 29 1.7 16 5 4 7 |MTDM2UN5G M16X2 2 95 10.0 10.0 6.0 47 125|10 |13 | MTDM6016Q
6-32UNC | 0.7938 | 52 46 40 24 16 5 4 7 |MTDM2UN6J M16X15 |15 95 14.0 75 45 47 125|110 |13 | MTDM60160
6-40UNF 106350 | 52 | 59 32 19 16 5 |4 7 |MTDM2UNBH M16X1 1 95 | 180 5.0 30 47 125(10 |13 | MTDMBO16M
8-32UNC | 0.7938 | 60 6.6 40 24 21 55 | 45 | 7 |MTDM2UN8J M18X25 |25 100 13.0 12.5 75 49 14 |11 |14 | MTDM6018R
8-36UNF 0.7056 | 60 74 35 2.1 21 55 | 45 | 7 |MTDM2UNSI M18X2 2 100 17.0 10.0 6.0 49 14 |11 |14 | MTDM6018Q
10-24UNC | 1.0583 | 60 45 53 32 26 55| 45 | 7 |MTDM2UNAM M18X1.5 |15 100 21.0 75 45 49 14 |11 |14 | MTDM60180
10-32UNF | 0.7940 | 60 6.6 40 24 26 55| 45 | 7 |MTDM2UNAJ 5/16-18UNC | 1.4111 | 70 7.7 71 42 34 62| 5 8 | MTDM2U050
12-24UNC | 1.0583 | 62 6.5 53 3.2 26 6 45 | 7 |MTDM2UNCM 5/16-24UNF | 1.0583 | 70 105 53 32 34 62| 5 8 | MTDM2U05M
12-28UNF | 0.9071 | 62 7.8 45 2.7 26 6 45 | 7 |MTDM2UNCK 3/816UNC | 1.5875 | 75 10.8 79 48 37 7 55 | 8 | MTDM2UO6P
1/4-20UNC | 1.2700 | 62 48 6.4 38 26 6 45 | 7 |MTDM2U04N 3/8-24UNF | 1.0583 | 75 15.0 53 32 37 7 55 | 8 | MTDM2U06M
1/4-28UNF | 0.9071 | 62 7.8 45 27 26 6 45 | 7 |MTDM2U04K 7/16-14UNC | 1.8143 | 82 123 9.1 54 40 85| 65| 9 | MTDM2U07Q
I:l = RO AALZOIL|C} 7/16-20UNF |1.2700 | 82 16.6 6.4 38 40 85| 65| 9 | MTDM2UO7N
1, 01 LA Z10] (0 2)= 5 At (X)) 24 BASHD QALICH 1/2-13UNC  [1.9538 | 88 1.3 9.8 59 43 105| 8 |11 | MTDM2UO8R
2. 21 . 010l LIALE AJO|Q] ZB|Ii HIKAL] £|A 22|T ZOZ HiRSIT YSLIC 1/2-20UNF  (1.2700 | 88 16.8 6.4 38 43 105 8 |11 | MTDM2UO8N



* SMT/SMTD® - - - - - - -

9 12 LHAL AIOIX|QF HIXOHX|ZH "LIAHE Z0]" "5 I Y4" S L8 AYS e X|2etotd 7| HE0|
"LEAR HIOIX]" Q] FY2 AEOHK| Bl "YLIALY 70 BF S+

Hu 0.
410
AT
Ot
[
30
o>
r
o

m[SMTDJZ: - - - - - -

S LIAMR "t "SFOl LEAMR "It
UN|SHE HEHZ E|Of UFLICE,

g | B

SMT/SMTDS BE )

AL ZEE ZFUM QY "HE RA XS 38 3k - 'HIXHE SKt, - MELYHE A =
LtAF S2171 H|O1X| B = OFEIHX| 2 MIZE 10 QS U,

W 2 LIAME "GB-6H, 2t 9ol LIAF Z2{1 AHIO|X|] "GP-6H, 2] H|ul 500 mm
o3 [y sg8x | BBax

X=38 = =

X | Max | Min | 3% X~ | Max | Min | 3% (£) | (£2)
3‘2'5:' 6.000 | 6.023 | 6.001 | 0.022 | 5.350 | 5.3675 | 5.3565 | 0.011 | 0.005 15
GP-6H
MGq | 6000 | 6023 | 6001 | 0.022 | 5350 | 53675 | 53565 0.011 | 0.005 15

0l QU2 L= QU AYULILH, IX|Of 5|8 BAH= 2|COf HIS HYE ERBLICE

W 20 LIAE "NB-6H, 9 8t91 LEAF E2{ 1 AI01X] "NP-6H, 9] H|x

= tmm
oF quy sget | BEaK
X4E o= - . -
X% Max Min | 2X} |[D2max| Max Min Xt () (£52)
I’:'A%'f:' 5.7055 | 5.7165 | 5.6945 | 0.022 | 5.500 | 5.511 | 5.500 | 0.011 | 0.005 16
NP-6H
MGq | 57055 | 5.7165 | 56945 | 0.022 | 5500 | 5511 | 5500 | 0.011 | 0.005 16

0l 9L ©= QuFYLL. X9 5|8 A= 2IEQ HIS HYE T,

AN8Y FAMY

@ THEO| HA O 2 AIBSHAIL. O Lo S2X| OHAIQ,
@ =7 UX|Z YoH TR 7|22 TESHY AN, S42 1 WS o= BAIE X1 SHFHAIL.
O AMEA0E FHTL XS ol FE MEB0| HAIZE FESHA] DAL, B A2 T = HIX|Z Qo X1 SN2 oA HUSIN| Q.

AKX
To

e ™
YAMAWA SEX| =2 AI[*] -
HRN.IIIN iz ONRl SM(FF @@
Direct Import Tool Professional Company

HALZOIA| AP ZHS 124-158X] (HZ230) @,

MEA| 2T JAZT|H2RMTL CEY 235 2138

on
o

ol Gl L BUO| MRS HEY &= UFLICE, Yof off FAZIE SHEZ U

JOA-QMA14664

- DS Qo oI (MSH) WM @
2AF:051) 325-1100 / MEXIAf : 02) 2635-5911 NiE A U3 (Hay) Al
Chaototn 2y SO Lot AsUT M

ZHo|X| http://www.yamawa.co.kr @ : wwwhanjinms.cokr) | | HYAMAWA  son euoscs

OKSMTA




